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Question Papers
ExamCode: RA_ ECON_162015

Which one of the following definition is stated by Marshall?
1} Wealth definition eltfare definition
3} Growth definition ., --arcity definition

Macro Economics is also known as:
1} The theory of national income
3) The theory of Growth

theory of Income and Employment
theory of International Trade

Micro Economics is concerned with narrowly defined group since it does not study:

The totality of behaviour of all units in the 2) Individual units of the Economy
_.onomy

3) Equilibrium of the firms in the Economy 4) Producer's equilibrium

Among the {ollowing which is the fundamental principle underlying all economic activity?

2) Fulfillment of all wants
4) How to spend income?

*hot  Jetween alternatives
., . low to earn income?

Which one of the following concept has developed by Paul. A. Samuelson to measure wellare?

1Y G.N.P ~U NP
3y NI EW

Which one of the following analysis splits up the Price effect into Substitution effect and Income
Y o LT‘.’

dinal utility analysis 2) Cardinal utility analysis

o Lyui-marginal utility 4) Consumer's surplus

Suppose 10 oranges are demanded by a household at the price Rs. 5 each. If the price is 3, 15 oranges
are demanded. Among whieh one of the following is the clasticity of demand for vranges?

(3]
L)

2y 1.1
4y 1,24
An individual spends ail his incoine on two goods X and Y. When the price of goods X increases, the

quantity purchased of goods Y remains unchanged. Then the Price elasticity of demand for goods X
will be which one of the following?

'} More than one ual to one
3} Lesser than one +) equal to zero

As the consumer wanted to consume more and more of gouds "X’, he is prepared to furego less and less
of goods 'Y'. This rule is associated with:

1) MRTS .y RS,y
3) DMU 4) MRT
"7 "ch one of the following is represented for Ed=0?
rtectly inelastic 2) Perfectly elastic
2y wnitary elastic 4) More than unitary elastic

If the demand for the commodity is perfectly inelastic, the whole burden of the commodity tax will fall
which part of the society?

‘onsumers 2) Producers
., aellers 4} Government
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The law of Diminishing Marginal Utili¢y is derived from which one of the following axioms?

l) Wants are unlimited 7Y Wants are recurring
3) Wants are alternative vants are satiable

A measwre of average responsiveness of
quantity to price over an interval of the
demand curve 1.e

AQ < P

Q AP
Which one of the following is correct for the
above statement?
A | Income elasticity of demand

B | Price elasticity of demand

€. | Point elasticity of demand

Arc elasticity of demand

Alfred Marshall's Cardinal ufility analvsis is based on the:
I Yypothesis of dependent utilities 2) Income Effect
[vpothesis of independent utilities 4} Substitution Effect

The combination of two goods which the consumers can buy by spending his money income on the two

goods at the given prices is known as:

1 Thcome Consumption Curve 2y Price Consumption Curve
3udget Line 4) Indifference Curve

In agriculture, the price-elasticity of demand helps to explain which one of the following?
1y The Paradox of thrifi he Paradox of plenty
3) Giffen paradox ., - he Paradox of value
Which one of the following indicates the up-ward sloping of the price consumption curve?
elastic demand 2) Unitary elastic demand
oy erfectly elastic demand 4) Relatively elastic demand
According to Harrod model, which one of the following is concerned with the given statement? "The

necessary relations hetween the rates of growth of the different elements in a growing economy".

1) Economic static :onomic dynamic
3} Comparative static -+, womparative dynamic



19. | Which one of the following formulae
. measures the cost difference?

AC=APQ

a1

B |AC=PQ,
A
Q. P

20. When the incame effect is negative for any goods, 1 goods is referred as:
1) Vebien goods iferior goods
3) Luxury goods < iNECESSAry

21. The assumption of "Consistency postulates” in Revealed preference theory assures which one of the
~Nowing statements?

Vhen the individual chooses "A’ rather than "B’ in  2) An individual can choose "A' rather than 'B' in one
particular instance, he cannot choose 'B' rather  instance and 'B' rather than "A' at any other instance
n A at any instance

3} He can choose both 'A' & "B’ at one instance 4} He cannot choose 'A' and 'B’ at one instance

22. When <=3/4 and §=1/4 for the Cobb-Douglas production function, returns to scale are:

nstant 2) Increasing
oy wlcreasing 4} First increasing and then decreasing
23. Statement | : Isoquants are convex to the origin, negatively sloped and cannot cross. Statement I1 :

Isvquants are concave to the origin, positively sloped and intersect each other.

atement 1 1s correct 2} Statement H is correct
- satement T and 11 are correct 4) Statement | and Il are false

24. ifonly part of the labour force employed by a firm can be dismissed at any time and without pay, the
total wages and salaries paid out by the firm must be considered as:

1

A fixed cost 2) A variable cost
Yartly a fixed and partly a variable cost 4) Iinplicit cost

25. The cost that a firm incurs in purchasing or hiring any factor of production is referred to as:

cplicit Cost 2) Implicit Cost
2y variable Cost 4} Fined Cost
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If the demand curves for a monepolist's commeodity are identical in two separate markets, then, by
practising third-degree price discrimination, the monopolist:

**Nill increase TR and total profits 2) Can increase TR and total profits
“annot increase TR and total profits 4} Will change a different price in different markets

When the TP falls:
1) The AP Labour is zero 7 The MP labour is zero
3) The AP labour is negative he AP labour is declining

Rl

~ can never be less than LTC:
hways true 2) Often true
3} >ometimes true 4) Never true

Which one of the following statements is false?

1) The dual of profit maximization is cost 2) The dual of cost minimization is profit
" ‘mization maximization
ost minimization is the dual of reaching the 4) Reaching the highest iso-profit line possible is the
. ..2st isocline possible dual of reaching the lowest isocost line possible

Statement 1 : At the shut down point P=AVC, TR=TVC and total losses of the firm equal fo TFC
Statement IT : At the shut down peint P=AVC, TR>TVC and total losses of the firm equal to TVC

tatement [ is correct 2) Statement I is correct
2 olatement I and 1l are correct 4) Statement 1 and 11 are false

short-run supply curve of the perfectly eompetitive firm is given by:
he rising portion of its MC curve and ahove the 2} The rising portion of its MC curve over and above
-down point the break-even point

3) The rising portion of its MC curve over and above 4) The rising portion of its MC
the AC curve

An increase in output in a perfectly competitive and constant cost industry, which is in long-run
‘librium will come:

ntirely from new firms 2) Entirely from existing firms
3) entirely from new firms or existing firms 4) Partly from new firms and partly from existing
firms

When the demand curve under monopoly is elastic, MR is:
N 2)0
'ositive 4} Negative
When the industry is in long-run equilibrium, the monopolistic competitor will produce at the lowest
point on its LAC curve:
1} Always ever
3) Sometimes “4) L.annot say
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short-run supply curve of the monopolistic competitor:

innot be defined 2) Is given by the rising portion of monopolistic
competitor's SMC curve
Is given by the rising portion of monopolistic 4) Can be defined only if tactor prices remain
competitor's SMC curve over and above AVC constant

In the case of price leadership by the dominant firm, all the firms in the purely vligopolistic industry
" produce their best level of output:

lways 2) Never
ametimes 4) Often

Given the supply of a commodity in the market period, the price of the commodity is determined by:

i market demand curve alone 2} The market supply curve alone
i market demand curve at the market supply 4} The demand for the commodity and supply of the
curve commaodity

If the MRTS LK equals 2,then MPK/MPL is:

2)
2 4) 4

wirn reference to the Cournot model, determine which of the following statement is false?

+ The duopolists do not recognize their 2} Each duopolist assumes the other will keep its
interdependence quantity constant

:ach duopolist assumes the vther will keep its price 4) The solution is stable
stant

Statement I : Implicit costs refer to the actual expenditure of the firm t¢ purchase or hire the inpuis it
needs Statement I : Implicit costs refer to the value of owned inputs used by tbe lirm in its own
production process.

Statement | is true tatement Il is true
3) Statements  and I are true + tatements | and 11 are false

At the best, or optimum, level of output fur the pure monopolist:
" MR=SMC 2} p=5MC
=lowest SAC 4}'P' is the highest

The distribution of two commodities between two individuals is said to be Pareto optimal if:

1) One individual can be made better off and making 2) Change in policy makes some people better oftf and
the other worse oft athars worse off

- The greatest happiness of the greatest number ne individual cannot be made better ofT without
maning the other worse off

The stability of equilibrium depeuds on the relationship between the slopes of the:

1} Demand curve 2) Supply curve
Jemuand and supply curves 4) Price curve
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Which of the following technique explains the general equilibrium of the economy?

1y Game theory ™ Linear prograniming
3) Cost- benelit analysis nput -Cutput analysis

IT each unit of goods can be used at the same time by more than one individual is called as:

1) Private goods ublic goods
3) Merit goods 4) Mixed goods

If the excess demand function does not intersect the vertical axis at any one price is caused as:

1) Stable equilibrium 73 Unstable equilibrium
3} Multiple equilibrium No equilibrium exists

The tangency points of the various indifference curves of the two individuals of the society arc the
Pareto optimal points and locus of these points is called as :

1) Preduction possibility curve antract cunve
3) Transformation curve 4) Marginal rate of technical substitution

~

ieral equilibrium analysis determines:
wlative prices 2} Absolute prices
_, -elative and absolute prices 4) Wholesale price

Who proved the existence of a general equilibrium for a economy with limited increasing returns and
monopolistic competition, without indivisibilities:
I Leon Walras 2) K.J. Arrow and G. Debreu

<.J. Arrow and F.H. Hahn 4) Leon Walras and H.G. Johnson

vvno was the [irst among the following to point out the paradexical result in Kaldor-Hicks criterion?
1y Pareto 2) Bergson
Scitovsky 4) Baumol

In an economy of two individuals |A and B] and two commaodities(x and y) general equilibriumn of
production and exchange occurs when:

IYMRT_ =P /P 2) MRS, for A aod B=P /P,

3) [MRS ], = [MRS, ]y ART, = [MRS, ], = [MRS_ ]

An ethical or value judgement must be made in order to derive:
1) The transformation curve 7 The conswmnption coofract curve
3) The general utility- possibility cune he social welfare function

T~ negative of the slope of the production possibility curve is called:
Aarginal rate of (product) transformation 2) Marginal rate of substitution

3) Marginal utility function 4} Marginal product function
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According to whom the level of production is the main determinant ol social wellare and the
distribution a secondary one?

1} Pareto ildor-Hicks

3) Bergson 4) dcitovsky

Whose criterion be s correct welfare measure, il the marginal utility of money is equal for all the
individuals?

1y Pareto criterion ck-Kaldor criterion

3) Bergson criterion +y ardinalist criterion

The translormation curve is derived lrom:
1) The consumption contract curve 21 The utility possibility curve
3) The social welfare function he productien contract curve

What type of analysis where we do not take into account the inter-relationship or inter-dependence
between prices of commodities or between prices of commudities and factors of production?

h Commodity sector equilibrium 2) Factor market equilibrium
artial equilibrium analysis 4) General equilibrium analysis

Whg maintained that the general equilibrium is stable?
eon Walras 2) K. Arrow
_, o.Debrew 4) Marshall

As ation in which it is impessible to make anyone better-olf without making someone worse-olT is
said to be:

17 Pareto-optimal 2) Pareto-efficient
3oth Aand B 4) Compensation criterion

Input- outpur analysis technique was invented by
1) Neumann and Morgenstern assily W. Leontief
3) Leon Walras 4) Pareto

Each product or factor market is considered as independent and sellf-contained for the proper
explanation of the determination of price and quantity of a commodity or a factor is caused as:
1) General equilibrium analysis =" Tactor market equilibrivm analysis

3) Commodity market equilibrium analysis ‘artial equilibrium analysis

In which year was the final report of the National Income Committee appeared?

) 1951 2y 1952
3) 1953 934
Na¢jonal Statistical Commission was headed by:
'. Rangarajan 2) Dr. Rajesh shukla
-, J.R. Gadgil 4) V.K.R.V. Rao

The LM curve relates the level of income with the rate of interest which is determined by:

1) Product market equilibrium oney market equilibrium
3) General equilibrium 4) rartial equilibrium
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*~nes multiplier is known as:
vestment multiplier 2) Static multiplier
3) vynamic multiplier 4) Emplovment multiplier

‘'ng depression fiscal policy aims at-

:ficit budget 2) Surplus budget
. walanced budget 4) Zero-based budget
Kevnesian Economics loecuses on the importance of the:
1Y Investment pattern of the society 2} Consumption pattern of the society
Role of government 4) Expenditure pattern of the society

One of the indicators of economic development is
1y Growth of industry ational income
3) Reduction of population growth -+ wicrease of exports

Who among the following was the member of National Income Committee in 1949?

1y LR, Hicks " M. Mukherjee
3) S.K. Ghosh J.R. Gadgil
Y119t is the share of industry in National Income during 2010-11?
7.9% 2)30.2%
21 31.1% 4 32.5%
IS curve:
1) Goes upward lopes downward
3) Goes honizontally 4) None of the above

Duesenberry has advanced hypothesis regarding ~~==amption behaviour called:
1} Absolute income hypothesis Lelative income hypothesis
3} Permanent income hypothesis + Life ¢ycle hvpothesis

The Kevnesian multiplier effect is very small in:
1) Underdeveloped countries eveloping countries
3} Developed countries 4) None of the above

Goods which are purchased lor final usc and not lor resale or further processing is called:
" Pyublic goods 2} Social goods
inal goods 4) Intermediate goods

T* - changing structure of GDP have been studied by:

)r. Rajesh shukla and K.A. Siddiqui 2} J.R. Hicks and M. Mukherjee
L.R. Gadgil and P.C. Mahalanobis 4) V.IC.R.V. Rao and 5.K. Ghosh
"7 ‘ch one of the lollowing lactors the determines the position of the IS curve?
e level of autonomous expenditure 2) The level of price
.5« ne level of autonomous investment 4) The level of demand
One of the important leakages from the multiplici -~ »ss is:
1) Exports ports

3) Deflation «+3 wwone of the above
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Kahn's multiplier is known as:
zome multiplier 2y Investment multiplier
nployment multiplier 4) Dynamic multiplier

The individuals or households try to imitate or copy the consumpition levels of their neighbours or
other families in a particular community. This phenomenon is called:

1} Ratchet effect monstration effect

3) Real balance effect 4} Pigeon effect

The aggregate demand has:

' Two components 2) Three components
our components 4) Five components

What is the share of the service sector in National incame during 2010-20117

1) 30.4% i7.8%
3)158.5% 4y 39.4%
t was the statemient given by Adam Smith regarding economic laws:
ey are universally applicable 2) They are like scientific laws
-, ...2y are the statement of tendencies 4) They are the modern mathematic laws

In Gandhian Economy, Laboor welfare is a necessary pre-condition for which one of the following?

onomic stability and social harmony 2) Self contained community
seaceful social life 43 Self- sufficient Economy

Under capitalism individuals are motivated by the desire for economic gain in their economic
activities. This institution of capitation is termed 2

1) Profit motivation enomic motivation

3) Freedom motivation 4y Competition

The Malthusean theory of population discusses the relationship between which one of the following

ors?
opulation and food supply 2) Population and poverty
3} Population and income distribution 4) Population and Famine

According to David Ricardo lands are subject tu which one of the folluwing returns?

1y Law of increasing returns ¥ of diminmishing returns
3) Law of constant returns 4} Law of marginal returns

Marxian philosophy has been technically termed :
1) Enalecticat Idealism alectical Matenalism
3) Social philosophy 4) Positive contribution

In which situation does Gandhiji accept the process of mechanisagion?
Ahen the lands are tou few for the work intended  2) Where there is high growth rate of population
_ e accomplished

3} When it leads to concentration economivc power in  4) When it enriches few at the cost of many
few hands
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The laws of rent, population diminishing returns were at the root of Ricardo's which attitude?
:ssimistic attitude 23 Optimustic attitude
5) mathematical attitude 4} Practical attitude

"Women were treated as skaves, play things and ornamental pieces in male dominated Hindu Society"
Who expressed this statement?

' “mbedkar 2) Anna
eriyar 4} Gandhi
What does the political economy .deal with accor™*~- *- David Ricardo?
I} An enquiry into the nature and causes of wealth o n enguiry into the laws according to which wealth
Nation s Stributed
3) Deals with welfare of the people 4y Deals with scarce resources which have alternative
uses

" 1t was the average period of trade cycle according to Karl Marx?
) vears 2)5 years
J) 4 years 4y | year

"Capital Limits Industry”- who gave the statement?
1) T.R. Malthus ~" Mawid Ricardo
3) Karl Marx .dam smith

Which one of the following statement is correct when the consumer is unable to state under ordinal
ntility analysis?

Juantitative difference between various level of  2) Qualitative comparisons between various level of
wendfaction satisfaction
3) Whether he attains the same fevel of satisfaction  4) Whether he does not attain any level of satistaction

When the resources are so assigned to the production of various goods so that the maximum possihle
satisfaction of the people is obtained. If so, which of the following efficiency is achieved?

1) Efficizncy in distributien Hocative Efficiency
3) Consumption Efficiency ~, oduction Efficiency

Which one of the following analysis can be used to explain under what conditions rationing of goods by
the Government can act as binding or a constraint on consumer's choices and further how it affects his
welfare?
* *larginal utility analysis 2) Revealed preference theory

difference curve analysis 4) Demand theory

In which of the following sector the private enterprise will have the opportunify to develop with state
participation where the Government will play an effective role in guiding policies, management and
ation?
int sector 2) Public sector
3) private sector 4} Mixed Economy
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\s per Karl Marx view the rate of
xploitation was given by which of the
ollowing formula?

A 0= <
=¥

E
V
C-M-C

|

| i Al L

b | M-CM

|

The prophet of the new age, the Socrates of South-East Asia, Father of social reform movement- These
titles were conferred on:

1) Gandhiji ™ *'ehru
3) Ambedkar :ryar
What was the name of the revolutionary humanist who was born 10 yvears alter Gandhi and 10 vears
before Nehru?
Y Ambedkar 1) Dadabhai Naoroji
feriyar 4) Gokhale
Which one of the following is equal to profitin G: ' n economic system?
1) Over head cost minus selling price otal receipt minus production costs
3) Cost over benefit 4) ivarginal cost minus marginal revenue
Which one of the lollowing lactors is irrelevant with regard to the credit creation of commercial
banks?
1} Amount of deposit ”* Beonomical condition
3} Cash Reserve Ratio Jumber of bank employees

ording to Milton Friedman an increase in the suppiy of mouey:
Vill increase output and employment with a rise in 2} Will decrease output and employment with a rise in

| expenditure total expenditure
3) Will increase output and employment with a 4y Will increase output and employment with increase
decrease in total expenditure in total expenditure
Martch the following
List 1 List 11
A. Commereial Bank | 1. Credit control
B. Finance 2. 3EBI
Corporation
C. RBI 3. NBFC
D. Capital market 4. Credit creation
[ A B ¢
4 3 1 b4
D 1 2 3 4
C.| 3 2 4 1
D.p 2 1 3 4
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Statement A: The deposit Insurance Corporation (DIC) was established on | January 1962 under the
Depaosit Insurance Corporation Act Statement B: From 1971, Co operative banks in a few states were
registered with DIC

1) A and B are not correct and B are correct
3) A is correct but B is false «+) 1 I correct but A is false

T~ concept "General Liquidity Effect” is ussociated with:

ank Rate 2) Open market operation
3) Variable Cash Reserve Ratio 4) SLR
Scheduled Commercial Banks are allowed to bor * their own discretion using:
1) Net demand and time liabilities arginal standing facility
3) Open market operation <y vash reserve ratio

Who pointed out that "Even unsteady growth through foreign trade is surely better than no growth at
all"?

1y H. Myint M Mill
3) G. Myrdal lurkse

Among the exports of principle commodities which one is the single largest item of exports in India?
" Fngineering goods 2) Chemicals and allied products
andicrafts 4) Reads made garments

Which one is the new slogan has been raised by the under- developed nations?
1) Trade and technology 7Y Trade and raw materials
3} Export and developmental imports ade and aid

Choose the correct option from the following: Commercial banks are regarded as creators of money
because:
1) They buy securities from the Central bank ‘heir foans create deposits

3) They are bound to honour their obligations 4} They provide over draft facilities

According to Keynesian theory, a decrease in income will:

Iy Decrease the speculative demand for money 2) Decrease the speculative and precautionary demand
for mone)

3) Decrease the speculative and transactions demanc ecrease the precautionan and transactions

for maney and for moncey

Statement A: CRR and SLR is same. Statement B: RBI offers clearing house facility at free of cost to
commercial banks.

.and B are false 2} A is correct but B is false

.is false but B is correct 4) Both A and B are correct

The note issue system in India is based on:
1) Simple Deposit System inimum Reserve System
3) Proportional Reserve System 4) rixed Fiduciary System
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5. According to Milton Friedman, the determinants of the demand for money are §. Level of prices 2.

Rate of interest 3. Level of National income 4, Rate of changes in general price level

1) 1 and 2 are correct
3) 2 and 4 correct

3, 4 are correct
43 All are correct

The economy where there is direct exchange of on~ ~~~ for another is:

1) Money economy
3) Modern economy

Rupee and all other coins in India are considered

1) Bank money
3) Paper money

In token money:
1) Face value is equal to intrinsic value
HF ~value is greater than intrinsic value

Fishers Quaniity theory of money is based on:
" "wdividual decision and behaviour

lacro factors like transaction demand and total
city of circulation

The first bank started in India was:
|} Bank of Venice
3} State Bank of [ndia

During Inflation:
1) Price level and value of money increases

3) Price level and value of money are not related

Special Drawing Rights [SDRs], are also known as:

By Gold parity
aper Gold

arter economy
4) vew classical economy

)ken money
4} rat money

ice value is less than intrinsic value
+} Face value 1s net related to intrinsic value

2) Micro as well as macro factors
4y Liguidity

ank of Hindustan
4y mdian Bank

2) Price level and value of money decreases

rice level and value of money go in opposite
waotion

2) Paper mongy
4) Metal money

Under the foreign trade policy 2004-09 of a new package scheme "Vishesh Krishi Upaj Yojana"

fes to @

griculture
o) 2eIVICe €Xports

2) Handlooms and handcrafis
4) Import of second hand capital goods

Which is a sister institution of the International Monetary Fund?

1) [nternational Develepment Association
3) Multinational investment Guarantee Agency

~= *he parties?
‘TO
3) UNCTAD

i R |

aternational Finance Corporation

iternational Bank for Reconstruction and
v relopment or World Bank

5. Which one of the global trade agency dispute settlemeut mechanism is antomatic, faster and binding

2)GATT
4HI1TO
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Which GATT rounds that a few agreements were arrived at relating to agricultural and dairy

products?

' TGeneva and Dillon Rounds 2) Dillon and Kennedy Rounds
«ennedy and Tokyo Rounds 4) Tokyo and Uruguay Rounds

The general equilibrium apparatus is suitable for ** - -alysis of-

1} Micro phenomena acro phenomena

3) Trade phenomena -, monetary phenomena

The last Round of GATT negotiations was at:
1} Geneva [Switzerland] ™ Annecy [France]
3) Tokyo [Japan] *unta Del Este {Uruguay]

Under which world trade forum where the member countries met in a decade io discuss and solve
=~~]ld trade problems?

IATT 2YWTO
3NTO 4) UNCTAD

. Which one of the following agency was established to assist in bringing about a smooth transition from

" a war-time to peace-time economy''?

"MF 2) United Nations
Yorld bank HWTO
Foreign trade has acted as an "Engine of growth" for-
1 Ny eloped countries 2) Developing countries
ess developed vountries 4y Industriallv advanced countries

The gains from International trade have gone more to developed countries at the expense of the less
developed countries, thereby, reducing their level of real income and hence capacity for development is
called as:
'* “trong Backwash effects 2) International demonstration effect

ecular deterioration in terms of trade 4} Strong forward effects

. According to G. Mvrdal, international trade has strong backwash effects on the :

is developed countries 2) Developing countries
5) weveloped countries 4) Both developing and developed countries

The higher level of output through trade to break the :

1) Under development of the economy 2) Traditionai conditions of under developed
conntries
3) The vicious circle of poverty he vicious circle of poverty and promotes

«wwslomic development

. One similarity between international and inter regional trade is that in general both must overcome:

1Y Tariffs 2) Differences in language
listance or space 4) Differences in currencies and monetary systems

Income tax was first introduced in India in:
1Y 1857 2) 1859
860 4) 1950
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The GATT was dismantled and started functioning a new body as:

1) The UNCTAD TYNIEC

HITO NTO

When was GATT ceased to exist?

1}y January 1, 1947 nuary |, 1993
3) October 30. 1948 ., wttober |, 1947

Which one of the following organisation is regarded as "The guardian of good conduct”?

/TO 2) World bank
vF 4y United Nations

How many countries were members ¢f the WTO at the time of its inception on January [, 19957

-7 2)67
7 4) 87
Who is an entrepreneur according to Schumpeter?
I) A salaried manager M An industrialist
3) A person who bears risk and uncertainties v pioneer in introducing new products, new

provesses and new forms of business organisations

Which of the following is not a direct tax?
1) Tax on lncome ™ Tax on Wealth
3} Tax on Expenditure “ax on Entertainment

Interest and revenue receipts are a part of Union f*~e~nment's:

1}y Tax Revenue on Tax Revenue

3) Capital Receipts ., evenue Expenditure
The principle of maximum social advantage is related to:

1) Taxation 2) Public expenditure

3) Public debt 3oth A and B

5. Statement A: Tax and special assessment are the same, Statement B: Gifts are voluntary contributions

from private individuals to the government fund for specific purpose.

1) Both A and B are correct 2) A is correct but B is false
\is false but B is correct 4) Both A and B are false

The opinion of private expenditure is always preferable to public expenditure belongs to:

1y Modern Economists lassical Economists
3) Neo-classical Economists 4) All economists

ort of petroleum and crude comes under the classification of:
ulk imports 2) Non- bulk imports
-, ~ apital goods imports 4) Consumption goods imports

LIFO and FiFO procedures are used for:
1) Valuation of company profits 2) Depreciation valuation
nventory valuation 4) Valuation of Corporation Tax
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The first economist who tried to formulate the princinle of taxation was:
1) Sir Raja Chelliah fam smith
3) Edwin Canon +) walton

"'-*3n Excise Dutics are a part of central Government's:
2venue receipts 2) Non- tax revenue
2) administrative revenue 4y Capital receipts

. Statement A: The Finance Commission is appointed for every five years, Statement B: The property of

the Union is exempt from State taxation and the property and income of the State are exempt from
lining taxation.

’th A and B are correct 2) A is true but B is false
-, .. is false but B is true 4) Both A and B are false

. Fiscal erisis implies:

1) Phenomenal increase in external indebtedness lassive increase in public debt

3} Large increase in non-developmental expenditure  4) Recurring deficit in Government's budget

. Public debts that are paid off within a year are called:

1Y Redeemable debt 2) Funded Debt
'nfunded Debt 4) Compulsory Debt
. A customs duty may be imposed to:
1 Raise revenue 2) Restrict imports
oth A and B 4} Restrict exports
. The Grants-in-aid are given to the states for:
1} Maintaining cordial centre-state relations 2y Covering routing gaps in state budgets
3} To finance State plans ssisting States to undertake developmental
avusities

. Statement A: During the period of rising prices, capital gains are illusory. Statement B: Increased tax

on capital gain will make the asset owner a real loser.

1Y A and B are false % A s correct but B is false
3Y A is false but B is correct loth A and B are correct

7T is imposed:

t every stage between production and 2) On final stage of production
wmption
3) Directly on consumers 4) On first stage of production

. Statement I: Programme budgets relate to broad programmes and assists top level of Govt.

Machinery. Statement I1; Performance budgets cannot be useful for efficiency control within a
particular Government agency.

1Y Both statements are true 2) Both statements are false
statement is true, but [ statement is false 43 [ statement is false, while 11 statement is true
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. Which of the following has the sole authority to control the expenditure of the Union Government?
veComptroller and Auditor General 2) The Prime Minister
1e Parliainent 4) National Development Council

The Finance commission does all the following functions except e¢ne. What is that?

1y Works out allocation of taxes in the divisible puol  2) Looks into financial relattons between the Centre
~n States

3) Ailocates Grants-in-aid to States and Union wssists the planning commission in making Five
Territories r Plans

The controlling authority of Government expenditure is:
" Teserve Bank of India 2) Planning Commission
inance Ministry 4} Finance Commission

When was the workmen's compensation act passe™ *= "lia?
1948 123
3y 1920 4y 1951

"-*~rnational Labour Organisation(1LO}) was set up in the year:

9 231991

123 4y 1932
Wlhen was the Hindu Mazdoor Sabha started?

120 2) 1947

148 4} 1930

VWhich one of the land reforms measure reduce wide disparities of income and wealth found in
agrarian structure?

1Y Abolition of intermediaries 2) Tenancy Reforms
eiling on land holdings 4) Co-operative farming
Which one of the following is a cause for sub-divi ’ d fragmentation?
1y Ceiling on land Holdings owth of the spirit of individualisim
3) Tenangy legislation 4 Avolition of Intermediaries
When was the Ensplovees Provident Fund Act originally passed?
11950 952
3) 1976 ) 1967
When was the New Social Security Scheme for ur--~-ised sector launched?
1y2002 JO4
3) 2001 a4y 2U03
Which one is considered as important cause of industrial dispute?
Yemand for lesser working hours 2} Demand for canteen facilities
Yemand for more wages 4) Demand for better safety measures

The Indian railway is-
1) In the joint sector departmental undertakings
3) A State Government undertakings -y wentral Government undertakings
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What is the percentage Annual average growth rate of Basic goods in the year 2004-057

9 percent 2) 5.4 percent
3) 4.9 percent 4) 4.3 percent

"zh of the following argument is not in support of Land Relorms?

» rationale in capital intensive modern farming 2} Imposition of ceilings on land holdings
. sub-optimatl level of land

3) Redistribution of surplus land to landless peasants  4) Not possible to adopt modern farm practices
without consolidation of land

[ADP stands for:
1) Integrated Agricultural Development Programme tensive Agricultural District Programme

3) Intensive Agricultural Development Programme  4) Integrated Agricultural District Programme

Which one of the lollowing is an economic factor determining economic development of our country?
' Dolitical factors 2) Social factors

Natural resources 4) Economic Nationalism
Low productivity of Agriculture in India is not caused by:
1 Inadequate availability of inputs 2) Sub-division of land holdings

ess area under cultivation 43 Poor finance facilities

What is the share of public sector in gross fixed capital formation in the vear 2009-10?
i) 8.0 percent 2} 8.9 percent
3) 8.6 percent 4 percent
Which one of the lfollowing is not a benefit of ES] scheme?
1'} Drependents 7 Maternity
3) Funeral Yension
Agricultural Engincering is a significant branch ~f .
1) Agriculture ndustry
3) Service sector <y Cngineering
Which one of the following does nof comprise infrastructure activity?
1) Transport Aarketing
3} Communication ~p CNergy

United Trade Union Congress (U.T.U.C) was formed in:
349 2) 1947
3) 1948 4) 1950

The new Agricultural policy was announced on .
) Feb 10, 2004 “YFeb £0. 2002
3y July 10, 2001 uly 29, 2000



182. LPG model has followed:

1) The World Bank prescription of stabilization and  2) The IMF prescription of stabilization and structural
sirugctural adjustment adjustment

‘he IMF-World Bank prescription of stabilization 4} The WTO prescription of structural adjustment
aa aiructural adjustment

183, KVIC (Kbhadi and Village Industry Commission) wac ectablished in:
1} Eirst plan zeond plan
3} Third plan 4) rourth plan

184. National Rural Drinking Water Quality Monitoring and surveillance programme was launched in:

1) February 2005 ‘ebruary 2006
3) February 2007 4) February 2008
185. During the Tenth plan, resource allocation to the agricultural sector was:
1358 percent 2) 4.8 percent
.8 percent 4) 6.0 percent
18« Tha eleventh plan has provided for implementing the PURA scheme:
248 crores 230250 crores
50252 crores 4y 0255 crores

187. The end of twelfth five year plan to provide electricity to all villages and reduce AT & C losses to:

I} 10 percent 0 percent
3) 30 percent {) percent

t8* T~ total public sector investment under the ninth plan was:

0% 2)6.7%
3)0.1% 4) 8.4%
189. The term 'Privatization’ connotes:
he induction of private ownership in pubticly 2} The complete elimination of publicly owned
. ....ed enterprises enterprises

3) The effective hosting of private enterprises and 4) The increase in the profit of private enterprises
public sector enterprises

190. The negative impact of privatisation:
1} It will lead in modernisation and diversification of  2) It makes Public Sector Units more competitive
Public Sector Units

3) 1t will revive sick units will increase greater disparities income and
Ith
191. Tho period of 12 five year plan is:
rom 2012-17 2) From 2007-12
3)bFrom 201319 4) From 2015-20

192. Prof.P.C. Mahalanobis introduced plan strategy of development to achieve industrialisation through
investment in:

1) Small scale industries 2) Cottage industries
3} Agriculture sector feavy industries
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